=SlimHead

 RVLAYERZVa—flifE R

— Ver.9.1

=Screw
BEBHEx 17
A \ BXNLY ok k[ F540
M2 0.4N.m 4 05 T4
/ ¢ M2.6 05N.m 6 0.6 T5
i M3 0.95N.m 7 038 T6
M4 2.30N.m 3 09 T8
M5 4.00N.m 9 1.0 T10
M6 10.00.N.m 12 1.2 T20
t ANFHOEAS—H LELVF
iIE HA4X || 1-49& 50&LLE 1004 LL L] "HEa—~
. dk | K| L _ ) T-4 700 490 350 TRX04L
T-5 700 490 350 TRX05L
Nity 4R Y DHAFRD AR TT ENiAyF 4Ry DHAFRD AR TT
H4X [[4K/3y 100KLLE 1000xL L] HERE "HEa—k HA X [[4Z/3v5 100ALLE 1000 L] RS BWEI—K
M3xel| - 44 39 SHO10306Ni M3xel| - 4.7 42 SHO10306BNi
gl 120 46 42 SHO10308Ni gl 120 5.0 45 SHO10308BNi
10| 120 46 4.2 SHO10310Ni 10| 120 5.0 45 SHO10310BN;i
Maxel| - 74 6.7 SHO10406Ni Maxel| - 8.2 74 SHO10406BNi
gl 150 7.8 70| 400k SHO10408Ni gl 150 8.4 75| 100k SHO10408BNi
10| 150 8.8 7.9 SHO10410Ni 10| 150 9.8 8.8 SHO10410BN;i
M5x8| - 18.3 16.5 SHO10508Ni Mb5xg|| - 218 19.6 SHO10508BNi
10 170 19.8 178 SHO10510Ni 10 170 227 204 SHO10510BNi
12) 170 208 18.7 SHO10512Ni 12) 170 244 220 SHO10512BNi
16 - 224 202 SHO10516Ni 6] - 274 24.7 SHO10516BNi
ATULRAA2 4RI DHARD AR TETT ATULAA2 BESH
YA [[4&/Sy5 100K LLE 1.000&kp F| HEIRE HEI—K H AR || 1-99& [100A&LIE 1000kL L] HEERE BEI—F
max4| - 247 222 SHO10204A2 M2X4 SHO10204A2BK
s - 21.9 19.7 SH010205A2 5 SH010205A2BK
o - 21.2 19.1 SHO10206A2 6 SH010206A2BK
o - 19.7 17.7 SHO10208A2 8 SHO10208A2BK
0] - 19.8 178 SHO10210A2 10 SHO10210A2BK
12| - 195 175 SHO10212A2 12) SHO10212A2BK
M26x4l - 256 230 SHO12604A2 M2.6X4) SHO12604A2BK
5| - 23.0 20.7 SHO12605A2 5 SHO12605A2BK
o - 22.4 20.1 SHO12606A2 6 SHO12606A2BK
o - 210 18.9 SHO12608A2 8 SHO12608A2BK
0] - 215 19.3 SHO12610A2 10 SHO12610A2BK
12| - 212 19.1 SHO12612A2 12) SHO12612A2BK
Max6| - 242 2138 SHO10306A2 M3x6|| SHO10306A2BK
o - 238 214 SHO10308A2 8 SHO10308A2BK
10 260 225 202 SHO10310A2 10 SHO10310A2BK
12) 260 232 208 SHO10312A2 12) SHO10312A2BK
16 260 232 208 SHO10316A2 16 SHO10316A2BK
Max6] - 304 274 SHO10406A2 Max6|| SHO10406A2BK
o - 313 282 SHO10408A2 8 SHO10408A2BK
10 280 295 265 SHO10410A2 10 SHO10410A2BK
12) 280 295 265 | '00F SHO10412A2 12 BHSY 100% SHO10412A2BK
16 280 30.1 27.1 SHO10416A2 16 SHO10416A2BK
20 280 30.1 27.1 SHO10420A2 20 SHO10420A2BK
25 280 317 28.6 SHO10425A2 25 SHO10425A2BK
moxs| - 345 31.1 SHO10508A2 M5X8 SHO10508A2BK
10 290 322 29.0 SHO10510A2 10 SHO10510A2BK
12) 290 328 295 SHO10512A2 12) SHO10512A2BK
16| - 35.1 31.6 SHO10516A2 16 SHO10516A2BK
2 - 384 34.6 SHO10520A2 20 SHO10520A2BK
25 - 422 38.0 SHO10525A2 25 SHO10525A2BK
s0f - 458 413 SHO10530A2 30 SHO10530A2BK
mexs| - 404 36.3 SHO10608A2 M6X8 SHO10608A2BK
10 350 413 372 SHO10610A2 10 SHO10610A2BK
12) 350 425 382 SHO10612A2 12) SHO10612A2BK
16| - 46.1 415 SHO10616A2 16 SHO10616A2BK
2 - 50.4 453 SHO10620A2 20 SHO10620A2BK
25 - 55.8 50.2 SHO10625A2 25 SHO10625A2BK
sf - 61.1 55.0 SHO10630A2 30 SHO10630A2BK
35 - 66.5 59.9 SHO10635A2 35 SHO10635A2BK
s - 71.8 64.6 SHO10640A2 40 SHO10640A2BK

EIEREZ 177



SScrew RAULAY K c RSP 8

[4FA]
e RJLAYE-RZFAW | R JLAYR-RXFUF4B
BWEI—F SH4PSETW SH4PSETB
U 4RXAY 4K AY
AR (& 10854 ) (#1054 2)
By B &
HAR W330 X D330 X H390mm(EZD B IEE £ ) RS HiA% (RlER A - 2474TL 10N YIHEEED)
v EmH) W300 X H372mm (FE{i¥52,900-)
NiAv3 SHAGOAHTEETT ENiAyF SHMGOAHEETT
HA4X [ A& 1= 105 HEI—F HA4X [ A& 1= 105 HEI—F
M3x8) 4 120 1200 || SHO10308Ni-4P M3x8) 4 120 1200 || SHO10308Ni-4P
10 4 120 1200 || SHO10310Ni-4P 10 4 120 1200 || SHO10310Ni-4P
M4x8|| 4 150 . 1500 || SHO10408Ni-4P M4x8|| 4 150 1500 || SHO10408Ni-4P
10] 4 150 1500 || SHO10410Ni-4P 10] 4 150 1500 || SHO10410Ni-4P
M5x10]| 4 170 . 1700 || SHO10510Ni-4P M5x10]| 4 170 . 1700 || SHO10510Ni-4P
12| 4 170 1700 || SHO10512Ni-4P 12| 4 170 1700 || SHO10512Ni-4P
ATLAA2 BB OEHERTT
HAX [ A% 1% 1055 HEO—F
M3x10 4 260 | 2600 || SHO10310A2-4P
12 4 260 2600 || SHO10312A2-4P
16 4 260 | 2600 || SHO10316A2-4P
M4x10 4 280 2800 || SHO10410A2-4P
12 4 280 | 2800 || SHO10412A2-4P
16 4 280 | 2800 || SHO10416A2-4P
20 4 280 2800 || SHO10420A2-4P
25|| 4 290 2900 || SHO10425A2-4P
M5x10]| 4 290 2900 || SHO10510A2-4P
12|l 4 290 2900 || SHO10512A2-4P
M6x10]| 4 350 3500 || SHO10610A2-4P
12 4 350 | 3500 | SHO10612A2-4P
[8FA]
e R)LAYF-RFF8W | RAJLAYF-XZ-F8B
BWEI—F SH8PSETW SHS8PSETB
U SAAL 8A ALY
AR (& 1054 ) (#1054 2)
By =] =
HAX W330 X D330 X H390mm(EZRD B IS £ ) BRFCAlAG (REEH 247174 10NYIRBED)
v EE) W300 X H372mm (5E{fi¥97.400-)
NiAv SHMGOAHTEETT ENiAyE SR OAHTEETT
HA4X [ A& 1= 105 HEI—F H4X [ A& 1= 105 HEI—F
M3x8) 3 210 | 2100 || SHO10308Ni-8P M3x8) 3 230 | 2300 || SHO10308Bni-8P
10 8 210 2100 SHO10310Ni-8P 10 8 230 | 2300 || SHO10310Bni-8P
M4x8|| 8 260 2600 || SHO10408Ni-8P M4x8|| 8 270 2700 || SHO10408Bni-8P
10/ 8 260 2600 || SHO10410Ni-8P 10/ 8 270 2700 || SHO10410Bni-8P
M5x10]| 8 300 3000 || SHO10510Ni-8P M5x10]| 8 340 3400 || SHO10510Bni-8P
12| 8 300 3000 | SHO10512Ni-8P 12| 8 340 3400 || SHO10512Bni-8P
ATV L AA2 BB OEHERTT
HA4X ] A% 1% 10% BWEI—F e | L
M3x10 3 480 4800 || SHO1031T0A2-8P :
12 8 480 4800 || SHO10312A2-8P
16 8 480 4800 || SHO10316A2-8P
M4x10 8 530 5300 || SHO10410A2-8P
12 8 530 | 5300 || SHO10412A2-8P
16 8 530 | 5300 || SHO10416A2-8P
20 8 530 | 5300 || SHO10420A2-8P
25|| 8 540 5400 || SHO10425A2-8P
M5x10]| 8 540 5400 || SHO10510A2-8P
12| 8 540 5400 || SHO10512A2-8P
M6x10]| 8 670 6700 || SHO10610A2-8P
12 8 670 6700 || SHO10612A2-8P

1R INARIU= = I rD S e T—
T EIE % % B[9002 5700 Y HHEEI RS

A4t T 550-0013 KPRAFAPRTFERXERET 4-7-11
00 @ 2@,:, ﬂ,@”ﬂ@ =_06-6538-5941 [ sales@ikekin.co.ip
FreeDial 06-6543-0289 =] www.ikekin.co.ip




